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PART -1 P-I-EOGK-JC-2017

ENGLISH LANGUAGE
SECTION - A : 20 Marks

Instructions : Each question under this section carries two marks. Please read the instructions in italic
given against each question carefully and answer the questions by selecting the right one out of the
multiple answers given below each as A, B, C and D. W

1.

10.

Her purse was ............. at the bus stop, so she ............. a compliant at the nearest police station.
(Choose the most appropriate pairs of verbs to complete the sentence)
A) pilfered, filed B) taken, field
C) stolen, gave , D) robbed, registered
[ (cold) today than it was yesterday. We must not venture ....... L (early) as usual.
(Change the words in brackets into appropriate degree of comparison)
A) colder, earlier B) colder, early
C) coldest, earliest D) more cold, earlier than
Keeping in maind the..o....c., v to develop the sector, the government have.................. solicited
foreign investment. (Choose the most appropriate pairs of words to complete the sentence)
A) importance, never : B) need, actively
C) objective, wanted D) view, discretely
In his speech he vowed to................ the four billion unbanked individuals across the world into
thewisitnas of financial inclusion. (Choose the most appropriate pairs of words to complete
the sentence)
A) bring, realm B) target, area
- C) represent, sphere D) engage, achievement
[ was greatly impressed............ her perseverance in studies, but was very much disappointed

...... “e..... the result of her final examination. (Choose the most appropriate pairs of
prepositions to complefte the sentence)

A) at, with : B) with, at C) on, about D) upon, with

She was delighted ........ the present he had sent her and complimented him....... his deep
concern for her. (Choose the most appropriate pairs of prepositions to complete the sentence)
A) on,with . B) with, about C) at,on D) in, for

Neither Rosalin nor her sister ................ present, but their father along with their two
younger brothers........... available for discussion in the meeting yesterday. (Choose the most
appropriate pairs of auxiliaries to complete the sentence) :

A) s, are ; ~B) are, were C) was, were D) was, was

A’ committee has been ...Lw.wi i (o PR e e the city into an international trade center.
(Choose the most appropriate pairs of verbs to complete the sentence)

A) converged, evaluate B) appointed, oversee

C) constituted, transform D) inducted, change

They have been. wad el o on incentives to.....................these practices are implemented at grass
root level. (Choose the most appropriate pairs of words to complete the sentence)

A) relying, ensure B) improving, secure

C) advocating, confirm D) debating, necessitate

Usually Nirmala .......... white shirts, but today she ............... a green one. (Choose the most
appropriate pairs of verbs to complete the sentence) ;

A) wear, is wearing B) wears, is wearing

C) wore, has worn D) is wearing, wears
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ENGLISH : SECTION — B : 10 Marks -

Instructions : Each question under this section carries one mark. Please read the instructions in italic
given against each question carefully and answer the quemons by selecting the right one out of the
multiple answers marked as A, B, C and D.

11.

12.

13.

14.

15.

16.

17.

18.

19.

It is the common doom of man. He must eat his bread by the sweat of his brow. (Pick out the
appropriate connector to join the two sentences)

A) who B) when C) what D) that

No other story-book is as popular as The Arabian Nights. (Pick out its ‘most appropriate
alternative that best expresses it in a positive form)

A) The Arabian Nights is the most popular story book.

B) The Arabian Nights are more popular than some other story books.

C) The Arabian Nights is one of the most popular story books.

D) The Arabian Nights are the most popular story books.

Girl with tall dark grey hair the yesterday spoke at the meeting very well. (Re-organize the
jumbled sentence into right order)

A) The tall dark haired girl spoke at the meetmg very well yesterday

B) The tall girl with dark grey hair spoke very well at the nieeting yesterday.

C) The dark tall girl spoke yesterday very well at the meeting.

D) The girl with tall dark grey hair very well spoke at the meeting yesterday.

Identify the incorrect one of the following possessive cases. :

A) The King of Bhutan’s visit B) Inayear’stime

.C) Karim and Salim’s bakery D) The Table’s top

Her mother is a woman of wonderful patience. (Identify the underlined part)

A) Noun Phrase B) Adverb Phrase C) Adjective Phrase D) None of these
- Sick as he was he did not go to school yesterday. (Identify the underlined part)

A) Adjective Clause B) Noun Clause

) Independent Clause ‘D) Adverb Clause

It is unlikely that you will (A) / find a more qualified and experience (B) / candidate than Mr.
Prasad (C) / for the post of President (D). (Find out the part 0]‘ the sentence having grammatzcal
error)

Afraid of missing her train and was late for the meeting, Sunita arrived an hour early at the
station. (Which of the following shall replace the part of the sentence in Bold?)

A) but later for B) and been late to

C) after being late D) and being late for

I remember my sister taking me to the museum when 1 was a child. (Pick out its correct
alternative in changed voice)

A) I remember I was taken to the museum by my sister when I was a child.
B) I remembered being taken to the museum by my sister when she was a child.
C) I remember myself being taken to the museum by my sister when I was a child.

D) I remember taken to the museum by my sister during my childhood.
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20. ‘That is my horse,’ said he, ‘and if I do not prove it in a few minutes, I will give up my claim.”

(Find out its appropriate alternative in changed speech)

A) He said that it is his horse and if he do not prove it in a few minutes, he will give up his
claim.

B) He claimed that that was his horse and if he did not prove it in a few mmutes he would
give up his claim.

C) He says that that is his hotse and if he does not prove-it in a few minutes, he will give up
his claim.

D) He asserted that it had been his horse and if he could not prove it in a few minutes, he will
give his claim.

ENGLISH : SECTION - C : 20 Marks
Instructions : Each question under this section carries two marks. Please read the following piece of
news carefully and answer the questions out of the multiple answers given below each as A, B, C and D.
Abe in Ahmedabad

The symbolism of Japanese Prime Minister Shinzo Abe holding parleys with Prime Minister
Narendra Modi in Ahmedabad from today cannot be missed. The last Asian leader who was similarly
hosted in Ahmedabad was Chinese President Xi Jinping in 2014. Back then Modi had gone out of his
way to fete Xi, but considerable water has flown down the Yangtze Kiang since then. India-China ties -
haven’t proceeded along the expected trajectory, as exemplified by the recent Dhoklam standoff.

Japanese exports to India rose from Rs. 22,900 crore in 2005 to Rs. 57,800 crore in 2015 and as of
today about 1305 Japanese companies have branches in India. Japanese investments-both made and
proposed — in projects such as the Delhi Metro and the Delhi-Mumbai Industrial Corridor have been or
can be transformational. Abe along with Modi will lay the foundation stone for the marquee Rs.1.1 lakh
crore Mumbai-Ahmedabad bullet train project which Japan is financing. Understandably, an Indian
bullet train has raised eyebrows given the shabby state and unsatisfactory safety record of Indian
railways in general. However, it needs to be noted that the bullet train project will have a separate
financing stream. Plus, the project can be used as a model to upgrade technology, standards and
protocols across the railways.

Additionally, India and Japan will sign 10 MoUs ~ including those for Japanese industrial parks —
during Abe’s trip. But what is really grabbing eyeballs is the expected launch of the Asia Africa Growth
Corridor. The corridor is meant to build capacity and boost human resource development in Africa,
create quality infrastructure, and facilitate people-to-people partnerships. Juxtaposed to China’s top-
down imvestments comprising its ‘One Belt One Road’ initiative, India-Japan’s outreach to the continent
seeks to connect different growth poles through local ownership of projects, skill development and
transfer of technology.

The strateglc dimension of the corridor is clear. With China using its huge foreign exchange
reserve to acquire economic depth overseas while trying to muscle aside other Asian powers. India and
Japan can work together to buttress ‘a multipolar Asia, as well as to provide an alternative model of
development for Asia and Africa that respects sovereignty and democratic principles. In that sense, the
India-Japan partnership can be a force that transforms the development paradigm in this part of the
world. And Modi and Abe have the personal connect to actualise this.

21. How is Narendra Modi, the Prime Minister of India’s meeting with the Japanese Prime

Minister, Shinzo Abe, in Ahmedabad symbolic ? :

A) The MoU for the first ever Indian Bullet Train between Ahmedabad and Mumbai will be
signed on this day of historic meeting.

B) Delhi Metro. Train has achieved spectacular success with collaboration of the same
Japanese Government.

C) Japanese investments-both made and proposed — in projects such as the Delhi Metro and
the Delhi-Mumbai Industrial Corridor have been or can be highly transformational.

D) The last bilateral summit between the then Chinese President, Xi Jinping, and the Indian

~ Prime Minister was held in Ahmedabad in 2004.
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22.

23.

24.

25.

26.

27.

28.

Match the vocabularies under List-1 with their meanings under List-2 as used in the passagu;
using the codes given below. :

List-1 List-2
A. To fete 1. Disapprove
B. Marquee 2. Draw close attention
C. Raiseeyebrows 3. To welcomesomebody publicly
D. Grab eye-ball 4. Most important
Codes :
A B (& D
A) 3 4 1 2
B) 1 3 2 4
) 1 4 3
D)l 2 3 1
How many Complex sentences have been used in the second Paragraph of the passage ?
A) one B) two C)  three D) four

Name the type of Clause used in the underlined part of the following sentence.

However, it needs to be noted that the bullet train project will have a separate financing stream.
A) Independent Clause B) Adjective Clause

C) Adverb Clause D) Noun Clause

Which of the following verbs has not been used in the passage as Infinite Verb ?
A) holding B) to connect C) transforms D) juxtaposed

One of the following words does not match with the others in terms of their usage in the
passage. Find out the word that mismatches with the others.
A) expected B) shabby C) outreach D) multipolar

Why does the writer suggest that India and Japan can work together to buttress a multi-polar

Asia ? '

A) China is investing huge capital overseas to boost the Asian economy and help grow the
other Asian countries.

B) During Japanese Prime Minister Shinzo Abe’s current trip, India and Japan are expected to
launch the Asia Africa Growth Corridor. ;

C) Japan is investing huge capital overseas to dominate the Asian economy and dwarf the
other Asian countries. :

D) While China is trying to dominate the Asia, India and Japan can offer alternative model for
mutual development of Asia and Africa respecting sovereignty and democratic principles.

What theoretical differences between the Japanese and Chinese models of continental
development have been postulated by the author of the passage ?

A) China adopts an inclusive investment policy, whereas Japan seeks to launch a monopolistic
investment policy to secure its economic depth.

B) Japan follows an exclusive investment policy ignoring the other stake-holders, but the
Chinese venture aims at mutual development with transfer of skill and technology.

C) China adopts a monopolistic investment policy side-lixﬁng the others, whereas the Japanese
venture seeks to develop the other players by encouraging local ownership of projects, skill
development and transfer of technology.

D) Japan launches a restrictive investment policy, whereas China attempts to develop the
other players by skill development and transfer of technology.

P--EOGK-JC-2017 : (6)
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29. Why are the Indian people critical of the multi-crore Mumbai-Ahmadabad bullet train project

being financed by Japan ? ;

A) The Indian Railway has been functioning most effectively as the. World’s fourth largest
railway net-work.

B) The functioning of the Indian railway has been far from satisfactory due to serious
unpunctuality in running of trains. :

C) The Indian people are discontented with the disorderliness and lack of safety in the running
of Indian trains. :

D) The Indian railway has been highly acclaimed for keeping time and looking after security
and comforts of passengers despite the vastness of its net-work.

30. How does the writer defend the Rs.1.1 lakh crore Mumbai-Ahmedabad bullet train project?

A) The project will be very expensive, uneconomical and increase the loan burden of Indian
Government. v 3 ‘

B) The project though expensive will be financed on soft terms by Japan and act as a model
for upgradation of technology, standards and functioning of the Indian railways.

C) If this project becomes successful, the project can be replicated in connecting the other
metropolitan cities. :

D) The Indian people dislike the project as the Indian railways have not been able to run the
existing trains punctually and safely.

ODIA LANGUAGE
SECTION - A : 10 Marks
FeadIen! N2 RafaIae geYe 94a 906 A8 IR R AIF A28 199 AYe SRty 98
QAeRI6R P IQ° 61 06w PLILINYSI geaIRea A08 Ra8 P98 fag |

: ARG

QURGER 9P AR AEQ VR AEE 2RI | JBREI RYAT YT 621G 621G GIGIAIRT
AI6Q 18T 6208 APV YRR | QI 0I6Q 2LFLE 28 AL RIAIY G488 JGal, AILIg ARG
QQ AGam FRCER 621 2RIl GIE 0I6Q RIS 62IRUINAIQ ARG 64 QEARER | A,
OIrQ QAR UARD 196 A0S F°Al, 69T A6Q @ 62 B YRAR 6RIST IR 6RIG6R 68Q
Q9Q1 8 ALFRGIIR | 62 NLIQ F8Y B RS ALFER AR RAAICAR! | ZAAUB6Q &G 8 AR
QLG QI @ 98 60 §e AMNG T QLG AUAACY JIRRIQ 6592 AIGEIN | 604 998 @)l
.e@w AUAE 6991 UA6R 64 ARE AT 6R9CIN | RIASR AT GEL6R AT 928 696719
QIT6Q 699 AR Q1T GANAIN, FIRE UQ 698 U TR T6R | 6909R FIT6Q YPUIR A8
QECER F19F VR @QIT @AQTIQ TR TR R 1@ | 22IQ FIGVY AF6Q AITI AF IR Vlel § 6Q
NegId 6219214 | Jag Y @Iee @6 QIRIQl, 20de 26Ra 6RIR ANVER F3IGIE 9
@GAIZ | 9Igdig Qg AQIg 699 GEL 64 FE0IQ AL IG° 699 AINdR YRG! AR
699Q 6QFNER FRY 6N QHE | 60¢ AAT AR RIS AFERIFER 2GS G UTCSIER
CRGIKIQUT | TRGS, FIARIN JRISIRIQ YUY 6291 ASH ALH RIFl, 69, LATFYSL 699 G
2°QIQ QISR FI6E F6H Q& AT | @8 g4 Q60, FIFR 69671 PH6R @9 Q8IS YIdia A8 2
ACIEY @ COCRIA YEAILER 68 968 BFR | AITRI AAQ A ARTE | AT AgS AT
A096a 629Iq 2IRA AAQ, ARFR0IQ 6d A1 629IQ AAGRI 98 @A | 6U2Ule APPSR 6
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QEATIER A, AR, AR 2i6d Jl Gi g AR BP6Q 692, IQS! B 69 AT

ARIEERIA A8 AU RQEEA | FEFIRE AR 6ATAR ATHMITIARETR TG-AE0g 26T QT

QLS|

31.

32.

33.

34.

3% 936 QRR6A 1 VIAB1Y 188 2AGFE QEQI0 Q2 @612

A)
B)
C)
D)

QS AD6Q Q8 AT ARIFRS! 625 62 A% 1Y @HAEA UTERG Q6L |
6RUGYRI PR ARG QI RRIERQ T8N 2B G TFC Q6L |
FF0I6Q UBRTEYQI NN J6l 8 YO 6919 @8 FRAER (18 LTORG Q6L |

6RIGASI GIHAIR QY 6QITICAIN @RSl URR6a F8Y A% GIsug @ QUIeR A9
A6V AN, 604 64 Gl G ATIRC Q6L |

60601a FIT6Q JIgNIR 18 94I6R F199 QU6A AT @AGAIR TR TER A 18 — 1T QBQ
Qe 2 @41

A)

B)
)

D)

692, 996l 6 6991 2T AIRSIE LRI ALRE F6R ASEG Q6 QIF, 6@,

| IARYoL 8°01 6 698Q AR 6 RARIQ I AT |

AIT6Q 692 UANQ Q1R AL, QUQ 622 QR TR F6R |
A9 C196Q QLI 2SI QRITR| A6 GI2 @ 6 AFEREH AVYIY 62IR @ 2N |
Q1960 QPIRRIS 2IQE FER. FIQIY 6R6L RGFIRQ FNIQ I AIF |

42 QIOG PACA AR EAIR ANVER AL H Fag 789 6 GAQ AFAS @R2IF?

A)

B)

©)
D)

AIRR1G FRICRRIA UYL 6291 AZC QIFL, 6P, aqc}<§@L 699 B 2°9IQ QURY FI6R
6L QB AIRAL |

Qe CIeqle SRl ZILRd GARIg 699 GEl. @60IQ AAgA Ye° 9@ AIedRdl
2IQEND 62IQ I6AR QIRCIAL, AATAR 6RIP FFY F60R AHE |

QUAGER A4 AR NQ UTFC, m@@ \Q° 21T R GRUIYELIS AR IQIB |

YR QRO ACHR IR 2609 qIRde, ATER 6 2dedbw 2R6Q Qae G
21UR?

QLA AR ATRYIG AR, AR, ALYAF @& IR 26V PG QLR

A)
B)
C)

D)

Q3% @ QTG 6RIAT LT 2GR AR ARG 21Q4e FQIR 6RQIq |
QAAIFQ FIFQIL FJRIERIN UYL JTEAU KAQIG |

6qR, 2QATYEL 2°Ql G 699 QQQ 6992l 6@!@@’ QP6Q 692, 9! (3 69012IQ Q@
ARMC (MICQURIR Qo Qda QQlq |

QAL ATIFEQ YIRS BNIQAQ 798 @8 9IS snIae TR AQIY ARIR KRR |
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A
35. Q9 QRIS AFTAIRYSI 2°Al B 6FAUT ASEINQ UYL UA6Q NAGER (8T AL
A A618 G2l JIGNAIRE Q618 B QRRRIER Q88T NQ° A°6QRR IR 92
A) 96 F9Q QBER V0 AL 8 2RI |
B) 49 A6QIQ8 IRIN6R QIAGIH F8S FRG ACIY QA9 g8l B ERQ YR QIS
gecia gIeNolea 64 AT AR AURE REQ NS 6AFIRE QISIEQ 81 9 |
C) FEY0I6Q 2BFLE A TR 671G AFIFINE FH6Q 62 FRG IS 166 R6Q |
D) QR0I6Q 2A8FLE 29I AAY 65T g4 B 9FRIg Tlcaa aa Add AYas TR0
6221 4B IR K6Q | :

ODIA : SECTION - B : 5 Marks
FeaaIeR1 1 8 QUIRITR g6sia J9a 209 Ra4 diRl N ¢ Q@8 | 645N °QIR1 AFI9ASQ

2008 F6919 QANYER URALRIER deg ¥Q° O 06R QUIKIRAl AR BG2 KNI ALUQ
Q]GQI@Q QIABQ Y1C QNG S @Qg |

36. Very often, random agitators and political parties resort to rail blockades to project their
demands. ; i
A) 26R@ ANNEQ TRRETLIR 6LKIRARIAT NQ° ARCTOR ARCIER ANRT QU1
QUYIAR IR 6ARARQ g 6aRIF | . |
B) QR Q6MIQNIA1 N9° QUNETER QRTI6e AQICR6R (AT AR AR AR
EARCAUER 2GS 6QRISB |
C) 6Q6REIEH G AUNCHER LCRIFARIAIANEH QT QAYITR IR CAREACHIS KA
QAT |
D) 26a@ A796Q F6QINRIA AURCTER @RAQ GIFQ g QIG1 AR RN CARTR
QQ2IE |
. 37. Hence, great inconvenience is caused to the public with huge loss to the national economy as
well.
A) IR, ATANIQSCINE 9g6 AR Y8 6291 986 FIF10 2GR Y9E AT @Rl |
B) O@6Q, eMQAIea 6IQ 29I QA 62a1 AT 6 RIP1A AHAQ YRR AG 621NN |
C) 604, AIG19 AR YRS VG62RI A2 Q AGARNIET 9gS YT 98 621R2IN |
D) 69¢, FIo19 2dR10Q 2RI 629! AIFFg AARIQAT @G 2@l 6T @GAIT |

38. The High Level Security Committee for the Railways has of late taken a bold decision.
A) TRC6Q 696 FRNIA QP QQIQ@I AG0Q GG I @@ A6 60RRS g
B) QHG 6QRQINA 2FLAG FAUUR TG IR 90Y TR 65983 |
C) IweQ, QW] AL FRAR RET QQGIQ @ dILd1 64dIRe LIeg 6RR8% |
D) Q@R 69 QWA QLY FQAULER| ATV @ %1@@?1@ e 600ED |

39. Accordingly, rail-rokos will henceforth invite criminal prosecution in | the state.
A) TREQ, 6QR CAUCR! KEM 8”%1‘0!@ 2lIFl QIFIER 6QEIRT AIFRI 2RSS 629 |
B) ©QQUIeQ, 2l QARIER 6w SQAUCK! @@QQ ACIR 2ANFE RAQ |
C) ©Laguld], ¥LIIQOIQ QUFIER 6AM SLEAEM QUMY @VLJUIR KA |
D) ©2gI6Q, Y8R QURIER 69 6aI6aI IR 6TIRRIQT AIAUGRIR RIG 629 |
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40.

Strong action would be taken against the agitators causing rail blockade not-withstanding their

plea of democratic rights. ' ;

A) 6QRT FE0IER 2R URICR 6ANTR KQYS 6NN IQEEQ .Qb@
RIAYIQAL FQUTR |

B) QIQE GIER AWIRIQ IREQ 6QREAER  @QYQl EAIRE TR SFd I
QUL ;

C) ARFIER AQRIFIQ QIR AL KRS FEARINQANE AUVEQ Q@ QIQHI@QIQ
@QU6LQ | '

D) 6RRVIZR 2YRAQ VES CAREACRIQ PR QAR 2CRIRFRAE FIFIER VO
A6 QDR | ' :

ODIA : SECTION - C: 20 Marks

F6069R1 : 9@ QUERITR g6Ie g9a 909 Q@ JIR 9@ JIR AE8 | YRR FaYIRNYS
J99E% 96 ATRIEQ URF IQ° YENR6Q IR SI6AIT Qa9 F1UQ A0S AR 40 @eg |

41.

42.

43.

44,

45.

QR QINg 64lTR QIRYEQ QUISA @ |

"IN 62RIQ AVIFNCR QUG CTRER” |

A) 69625 AR 62N 6462Q AVICEE QAIQ 6TAEM |

B) QRICIER QY 6TFACR RIQE ARYI 621! |

C) QAR 6aM IQ° AVICNER QAIG 6TAEM |

D) 64606967 AN 62 6A6B6R6R AFICNER @AIQ 6TACR |

4 QARCA 6867 60 AN ATFRS 6REIAR EAIR AR BB, @Y 4SS
6AAIRFOIQ 61T AQPRE F&F @ ard ... < Q@a i 3¢ Rge 629 QREQ
QEIUGS?

A) 98 9Q4Ig)60 QR 24, AR QI AR YuI Al

B) Q89 9IS 4I9Q AR, AHMRAER & g2 AR |

C) 9RR Q8 WIR 9EQ0, PRI 83 6RIR I8 93 |

D) QAES AlF 616G 66 6A6RY, FAG! VIR @F 6208 699 |

"2IRYIS QAR QUINA FRA", Y€ 289 2UYS G620 Fd @ |

A) IFR FITQ @RI ARIF QS B) 966469 96062108

C) 99R gIG6R 2 A°PIR *QE D) QAOLF QUL AR REQ

3F AYO ANIAIGET CRIQ 6RAC AR 5L |

A) 699168 LAIARIN IRRG! T6Q | B) 691 CQIRAIF 9101 Q8! QM 9 |
C) AFI6Q @8 aQaQ F6q | D) 6AREQ RIS 6QH QIME |

59 AYG ARUFNFT FRIQ 686G g8 UM T2 Q9 |

A) 2 29 FQUIRAQ AQ |GG TR 654160 EG! @QAUREM |

B) 9F 68g6Q 2@dc! gadic @02l QAKAISH (HAFIFFIl ARITE 626R |
C) 680 QINYQICIEH 26aR A JAIR FIIER K2UIIE FRIAEM |

D) F2KININ QTEM AC6Y AT FFA AU 6261 RO
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46. (%2 QIR 2’ YFT 699 G2 ;
A) QY B) GIR&Y - C) Q&Y D) €8aY

47. G¢ YO TAAIFT CRIQ 690G 9B TR ?

A) SISy B) qIQe C) 69@ D) 6Ql®
48. RIVIQUEGY FE GRIAIN? ’ |

A) 9@ B) Qi@ C) de D) QYIS
49. QAR 69Q AAIQ?

A) FIRIC IQERITN REXIQ B) ©Q Q¥

C) @9 ‘ D) a4

50. &¢ YO INAIGE ARIQ 609 905 OR?
A) 9% B) €16 C) Qo1 D) Qo1

51. 2919’ 999 28 @412
A) e B) 4€I4Q C) Qe8! D) Q@9

52. ‘O0RQ JR6Q 6aQ Af 2187 :
A) 998 B) Q& a8 C) Qa9 ad D) @1d 9 A%

53. Q96Q QARSI INYE AUQ ‘9FQ QAYS FANIIEIRIR 69T 599 @9 |

A) 939 B) 9% C) @8 D) 6%

54. QU6 ARCA B4 OwI- 9T QRTQ Q0K 2dE QIg | | ' |
A) QARIR 62IR AN G B) 646G 6AIPINGA & 6QI8 UAITCE Q1F
C) 2RYe gd AN D) Qal 6ox

55. 64IRQIQ agl - T J9gEg e J96a gRId @9 |
A) dadal - B) dqal C) ggsl D) €Igl

56. 0¢ AYC §649Y AQCNIGE RIQ 602 JAT AAIGFOIQ §R?
A) 6RI8Q - B) €99 C) ae D) Q@@

57. Q¢ QYO AQMIRE FIQ F6498 AT LT @R |

A) 2Qe B) 2o@ C) AR D) 2IQEeY -
58. GORYO 690G ARIQ G AAS?
A) RCIQQAIESAT  B) 2AGIQYS C) efqae D) 26Q 8%
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59. SORYE TR 6896 Po1Rl FRSa F698 QIARIR F6?
A) TRIT 6RINER RIRE : B) Q°QIf QA6 QIR
C) OFI6Q 661G~ 6mEL D) $§0Q S04 QAR
60. QRGINQIQ IS AR 9T AATA 62R JI8G AR AAR?
A) 9Q¢ B) QQ1Q Cc) aid D) &R
PART - 11
GENERAL KNOWLEDGE

SECTION — A : 80 Marks

" Instructions : Each question under this section carries two marks. Please read the questions carefully
and answer each of them by selecting the right one out of the multiple answers given below each as A,

B, C and D.

61. Match List-I with List-II given below and select the correct answer using the codes given
below. :
List-I List-II
A. Ebony 1. Moist deciduous
B. Shisham 2. Himalayan Moist
C. Walnut 3. Alpine
D. Birch 4. Tropical Evergreen
Codes :

A B e D
A) 1 3 2 4
B) 2 4 1 3
C) 4 1 2 3
D) 3 4 1 2

62.

63.

Which of the following statements regarding laterite soils of India is/are correct?
They are generally red in colour.
They are rich in nitrogen and potash.

They are well developed in Rajasthan and UP.

5 L S o

Tapioca and cashew nuts grow well on this soil.
Select the correct answer using the codes given below.

A) 1and2 only B) 1 and4 only 2 e only D) 1,2and3

Which of the following statements regarding red soils of India is/are correct?

1. The colour of the red soil is due to ferric oxide/iron content.

2. They are rich in lime, humus and potash.

3. They are porous and friable structure.

Select the correct answer using the codes given below.

A) 1and2 only B) 1 and3 only C) 1 only D) 1,2and3
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64. The Narmada River flows to the west, while most other large peninsular rivers flow to the east,
why?
1. Itoccupies a linear rift valley.
2. It flows between the Vindhyas and Satpuras.
3. The land slopes to the west from central India.

Select the correct answer using the codes given below.

A) 1 only ‘ B) 2and3 C) land3 D) land2
65. Match List-1 with List-11 given below and select the correct answer using the codes given
below. l
List-1 List-IT
A. Ganga 1. Chambal and Ken
B. Indus 2. . Wainganga and Indravati
C. Yamuna 3.  Chenab and Sutlej
D. Godavari 4. Gomati and Kosi
Codes : '
A B 5 b
A) 1 3 2 4
Bl 2 4 1 3
C) 4 1 2 3
D) 4 3 1 2

66. Which of the following statements about 2017 Asian Boxing Championship is correct?
1. It was held in Ho Chi Minh City of Vietnam. '
2. Indian Sports icon Mary Kom won the gold medal by defeating North Korea's Kim Hyang
Mi on 8" November, 2017.
3. Mary Kom won the gold medal playing in 48 kg category
Select the correct answer using the codes given below.
A) Only 1 is correct ' B) 2 and3 are correct
C) 1,2:& 3arecorrect : D) None is correct

67. Consider the following pairs:

Programme/Project _ Ministry
Drought Prone Area Programme: Ministry of Agriculture
Desert Development Programme: Environment and Forest

3. National Watershed Development
Project for Rural Area: Rural Development
Which of the above pairs is/are correctly matched? .
A) 1and2 only B) 3 only £ 1,.2.a0d 3 D) None

68. Which of the following state capitals of North-East India is/are connected by Indian Railway?
1. Imphal 2. Agartala 3. . Kohima 4. Aizawl
Select the correct answer using the codes given below.
A) 12and3 B) 2and4 C) 13and4 D) 2only
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69. - The Red Data Books published by the International Union for Conservation of Nature and
Natural Resources (IUNC) contains lists of-
i. - Endemic plants and animal species present in the biodiversity hotspot.
ii.  Threatened plants and animal species.
ii.  Protected sites for conservation of nature and natural resources in various countries.
Select the correct answer using the codes given below.
A) iand iii B) iionly C) i, iiand iii D) iii only
70.  Due to improper and indiscriminate disposal of old and used computers or their parts, which of
the following is/are released into the environment as e-waste?

. Beryllium 2. Cadmium 3. Chromium 4. Heptachlor

(9}

Mercury 6. ilead , 7.  Plutonium
Select the correct answer/s using the codes given below.
A} 1.2 and 3 only B) 2and3 only
C)y 1,2and 4 only - D) 1,2,3,5and 6 only
71.  Assertion (A) : The ozone layer is a region of concentration of ozone molecule (O3) in the

earth’s atmosphere. The layer sits at an altitude of about 10-50KMs with a maximum

concentration in the stratosphere at an altitude of approximately 25KM:s.
Reason (R) : In recent years, scientists have measured a seasonal thinning of the ozone layer
primarily at the South Pole. This phenomenon is being called the ozone hole.
A) Both A and R are true and R is the correct explanation of A.
B) Both A and R are true, but R is not the correct explanation of A.
C) A s true, but R is false.
D) A is false. but R is true. -
72.  Match List-1 with List-2 and select the correct answer using the codes given below.
List-1 (Continents) List-'Z (’Deéerts)
A. Asia 1. Atacama

B. Africa

[§9)

- Mojave
C. North America 8 Kalahari
D. South America 4. Gobi

Codes :

Aiiw By TCES B
A) | ¢S 4
B &3 n 4
Sy Y 1
D) 3 hep 14 ol
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73. Match List-1 with List-2 and select the correct answer using the codes given below.

List-1 (Minerals) List-2 (Major producing country)
A. Bauxite 1. India
B. Manganese 2. Japan
C. Mica 3. Jamaica
BT 4. Russia
5. Malaysia

Codes :

A B & D
A) 1 2 5 4
B2 3 1 4
g W e
P2 1 4 2

74. Which of the following have coral reefs ?

1. Andaman and Nicobar island 2.  Gulf of Kutch

3.  Gulf of Mannar 4. Sundarbans

Select the correct answer using the codes given below.

A) 1,2and3 B) 2and4 C) land3 D) 1,2,3,and4

75. Arrange the following popular hill stations of India in terms of their height from highest to the
lowest from the mean sea level. ;
1. Darjeeling 2. Mussorie 3. Shimla 4. Ooty
Select the correct answer using the codes given below.
A) 3-2-4-1 B) 3-1-4-2° C) 2-3-4-1 D) 2-4-13

76. If a ship has to sail from Chennai to Kochi, it has to go around Sri Lanka rather than cross
through the Palk Strait, why?
A) The Palk Straight has disputed islands and the Sri Lankan Navy does not allow the ships to
‘ cross through. :
B) It is too shallow for the ships to cross.
C) Shipping is prohibited through the Straight due to its religious significance connected with

the Epic Ramayana. :
D) The around Sri Lanka route is actually shorter than crossing through the Palk Straight.

77. Lord Buddha preached the following four noble truths. Put them in right order using the codes

given below. . ;
1. There is suffering. :

2. There is cessation of suffering.
3. There is a path leading to the cessation of suffering.
4. There is cause of suffering. :
Codes :
A) 1-4-2-3 B) 4-2-3-1 : C) 2-3-14 D) 3-4-2-1
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78. Match List-1 with List-2 and select the correct answer using the codes given below.

List-1 List-2
A. Time taken by earth to orbit the sun 1. Aryabhata
B. Calculation of the value of pi 2. Bhaskaracharya
C. Invention of the digit zero : 3. Bodhayana
D. The game of snakes and ladder 4. Gyanadev
Codes :

A B C D
A) 4 1 2 3
I s e 1 4
(S 1 4 3
DR e 2

79. Match List-1 with List-2 and select the correct answer using the codes given below.
List-1(Event) List-2 (Year)

A. Khilafat Movement [ R LIS
B. Chauri-Chaura incident 25 TN
C. Chamaparan Movement 3, v o2
D. First Round Table Conference iRl O )
Codes : v

A B C D
A) 4 1 2 3
B) 2 3 1 4
(@) 1 4 3
Dyits 4 2 33|

80. Assertion (A) : Govt. of India Act, 1858, transferred the governance of India from East India
Company to the Crown.
Reason (R) : The East India Company was unwilling to administer India any more.
A) Both A and R are true and R is the correct explanation of A.
B) Both A and R are true, but R is not the correct explanation of A.
'C) A istrue but R is false. ;
D) A is false but R is true.

81. Consider the following specific stages of demographic transition associated with the economic

development:

1. low birth rate with low death rate
2. high birth rate with high death rate
3. high birth rate with low death rate v
Select the correct order of the above stages using the codes given below?

A eale 203 Byse2. 1. 3 Gl 2 3l IB)i58e 2. 1
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82. Which of the following tribe/s practise/s polyandry?

1. Gonds

2. Nagas

3. Jaunsaris

Select the correct answer from the codes given below.

A) 1only

B) 2and3

C) 3and4

4. Todas

D) land4

83. Match List-I with List-II given below and select the correct answer using the codes given

below.
List-I
A. Brassware
B. Silk Sarees

C. Chikka Embroidery

D. Sports goods

Codes :

A B
A) 3 1
B) 3 2
C) 4 2)
D) 1 3

84. Assertion (A) : Export of ready-made garments from India has increased in recent years.

C
2
1
1
4

List-1I:

1. Kanchipuram
2. Lucknow

3. Moradabad
4. Jalandhar

D

4

4

3

2

Reason (R) : Labour costs are low in India.

A) Both A and R are true and R is the correct explanation of A.

B) Both A and R are true and R is not the correct explanation of A.

C) A istrue but R is false.
D) A is false butR is true.

85. The electronic voting machines are jointly developed with-
Bharat Heavy Electricals Ltd
Bharat Electronics Ltd

12
2
3. Electronics Corporation of India Ltd
4.

Bharat Sanchar Nigam Ltd.

Select the correct answer using the codes given below.

A) 1,2and3

86. With reference to micro irrigation, which of the following is/are correct?

B) 2and3

1. Fertilizer/nutrient loss can be reduced.

C) 2and4

2. It is the only source of irrigation in dry land farming.

D) 3and4

3. In some areas of farming, receding of ground water table can be checked.

Select the correct answer using the codes given below.
B) 2 and3 only

A) 1only
P-I-EOGK-JC-2017
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87. Match List-I with List-Il given below and select the correct answer using the codes giver.lw

below.
List-T List-II :
A. Bhakranangal 1. Bhagirathi
B. Dulhasti 2. Mahanadi
C. Hirakud 3. Chandra
D. Tehri 4. Sutlej
Codes :

A B C D
A) 3 1 2 4
B) 2 8 4 1
€3 g s 1
D) 1 3 4 2

88. Which of the following are the characteristics of organic farming?
1. Use of chemical fertilizers to improve soil fertility
2. Frequent decomposing and fallowing
3. Use of herbs to control pests
4. Higher productivity per hectare

Select the correct answer using the codes given below.

A) land4 B) 1,3and4 C) 2 and3 only D) 2,3 and4
89. Match List-I with List-II given below and select the correct answer using the codes given
below. v

List-I (Crops) List-IT (Major producing districts)

A. Ginger 1. Cuddapah and Guntur

B. Jute 2. Idukki and Wayanad

C. Mustard 3. Goalpara and Kamrup

D. Turmeric 4. Bharatpur and Ganganagar.

Codes : :
A B C D

A) 1 3 2 4

B) 2 4 3 1

C) 4 1 2 3

D) 2 3 4 1

90. With reference to soil conservation, consider the following practices:
1. Crop rotation 2. Sand fences 3. Terracing : 4. Wind breaks.
Which of the above is/are considered appropriate method/s for soil conservation in India?
A) 1 only B) land2 only C) 2and3 D) 1,3 and4

P-FEOGK-JC-2017 - (18)



A

91. Match List-I with List-Il given below and select the correct answer using the codes given

below.

List-1 List-11

A. Karnataka 1. Narora

B. Tamil Nadu 2. Kaiga

C. Uttar Pradesh 3. Kakrapara

D. Gujarat 4. Kundankulam

Codes : ' '
A B. © D

A) 1 8 2 4

Ny 2 4 1 3

C) 4 1 2 3

D). 2 3 4 1

92. To meet the rapidly growing energy demand, some opine that India should pursue research and
 development on Thorium as the future fuel of nuclear energy. In this context, what advantage

thorium hold over uranium?
1. Thorium is far more abundant in nature than uranium.

2. On the basis of per unit mass of mined mineral, thorium can generate more energy

compared to natural uranium.
3. Thorium produces less harmful waste compared to uranium.
Which of the above statement is/are correct?
A) 1 only B) 2and3 only C) 1and3 only D) 1,2and3
93. Which one among the following is the common characteristic amongst Khambhat, Ankleswar,
Kalol (Panch Mahal district) and Mehsana of Gujarat?
A) All are port towns.
B) They are inajor on-shore oil and gas fields.
C) They are petroleum refining centres.

D) They are connected to Bombay High by Gas Pipeline

94. Match List-I with List-II given below and select the correct answer using the codes given below :

List-I List-IT
A.  Coal 1. Bhandara
B. Gold 2. Karanpura, Giridih
C. Mica 3. Hutti
D. Manganese 4. Nellore
Codes :
A B & D
A) 1 3 2 4
B) 2 1 4 3
) 4 1 2 3
D) 2 3 4 1

P--EOGK-JC-2017 (19) ’ P.T.O.




95.  Which of the following is/are the reason/s behind Gujarat being the leading producer of salt irr-
India? :
1. The long length of coastline
2. Long duration of hot and dry conditions
3. Presence of gulf areas

Select the correct answer using the codes given below:

A) 1and?2 only B) 2 only @) Eandis D) 1 and 3 only
96. Kerala is famous for cultivation of-

1. Coconut 2. Black pepper 3.  Rubber 4. Rice

Select the correct answer using the codes given below:

A) 1and2 only B) 2 and4 only C) 1,2and3 D) 3 and4 only

97. During December and January North India experiences excessive cold weather because-
1. These areas being far away from the moderating influence of the sea experience
continental climate. »
2. The cold wind coming from Caspian Sea and Turkmenistan bring cold waves over the
northern parts of India. ¥
3. Low pressure develops over northern India due to high temperature.
4. High pressure develops over north India due to low temperature.
Select the correct answer using the codes given below:

A) 1 and4 only B) 2and3 only C) 1,2and4 | D) 3 and4 only

98. Consider the following statements about the South-West monsoon and pick out which of them

is/are correct using the codes given below.

1. It occurs from June to September.

2. Its direction is north-east to south-west.

3. It gives maximum rainfall as compared to other monsoon.

4. Ithas no branch.

o b o nieu B 0 8 C) 1,2and3 D) 3and4

99. Consider the following sanctuaries of India :
1. Periyar 2. Dachigam 3. Sariska 4. Kanha

Which one of the following is the correct sequence of location of the above sanctuaries from
south to north?
A) 1-4-2-3 B) 4-1-3-2 C) 14-32 D) 3-14-2

100. Arrange the following National Parks of India from north to south:
1. Indravati 2.  Nagarhole 3. Corbett 4. Madhav
Select the correct answer using the codes given below-
A) 1-3-24 _ B) 2-1-4-3 C) 3-4-1-2 D) 2-3-4-1
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G.K. : SECTION - B : 20 Marks

Instructions : Each question under this section carries one mark. Please read the questions

carefully and answer each of them by selecting the right one out of the multiple answers given
below each as A, B, C and D.

101.

102.

103.

104.

105.

106.

107.

108.

109.

The normal temperature of the human body is-

A) 37°C B) 37°F C) 104°F D) 36.8°C

India generates about 4.3 million tons of hazardous wastes every year. Direct exposure to, which

of the following two chemicals in hazardous wastes can be fatal?

A) mercury and arsenic’ B) cyanide and sulphur

~C) sulphur and arsenic D) mercury and cyanide

The Keibul Lamjao, the only flbating National Park in the world is in-

A) Venezuela B) Meghalaya C) Manipur D) Mizoram

Minerals associated with granite and igneous rock are-
A) Gold, Silver etc : B) Manganese, Lead etc
C) Iron ore and Zinc etc D) Copper and Lead

In a particular region of India, the local people train the roots of the living trees into robust
bridges across the streams. As the time passes, these bridges become stronger. These unique
living root bridges are found in- 1

A) Meghalaya B) Himachal Pradesh C) Jharkhand D) Tamil Nadu

The first attempt to introduce a representative and popular element in the governance of India
was made through-

A) Indian Council Act, 1861 B) Indian Council Act, 1892
C) Indian Council Act, 1909 D) Govt. of India Act, 1919

What is the scientific name of the National bird-Peacock of India?
A) Pan Cristatus : B) Cuculidae Cuculiformer

C) Corvours Corone D) Phaethontidae Psittaciformes

Which one of the following statements is not correct in the current Indian scenario?
A) Life expectancy is on the increase and is about 67 years as of now.

B) Infant mortality rate has declined and has reached 47/1000.

C) MMR is on the rise due to lack of medical facilities.

D) Percentage of women giving birth in health institutions s on the rise.

Which of the following Steel Plants in India was started in 1965 with collaboration of West
Germany. ’ )

A) Jamsedpur Tata Steel Plant B) Bokaro Steel Plant

C) Durgapur Steel Plant D) Rourkela Steel Plant
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110.

i 3

112,

113.

114.

115.

116.

117.

118.

119.

120.

The energy that can harness heat stored under earth is known as-

A) Thermal energy B) Nuclear energy

C) Tidal energy D) Geo-thermal energy

The two states in India most richly endowed with iron ore are-

‘A) Bihar and West Bengal B) Madhya Pradesh and West Bengal
C) Bihar and Odisha D) Madhya Pradesh and Odisha

Which state in India has the largest deposits of Thorium ?
A) Kerala B) Karnataka C) Andhra Pradesh D) Assam

India is tropical country but has a monsoonal climate because-
A) Its real extent is vast. B) It is surrounded by the sea.

C) The Himalayas provide the barrier effect. D) Land and sea breeze create monsoon.

Which one of the following is the national aquatic animal of India?
A) Saltwater crocodile B) Olive Ridley Turtle
C) Gangetic Dolphin D) Gharial

Consider the following statements: :

1. National parks are a. special category of protected areas of land and sea coasts where
people are an integral part of the system.

2. Sanctuaries are concerned with conservation of particular species.

3. Biosphere reserves are connected with the habitat of a particular wild animal.

Which one of the statements is / are correct? -

A) lonly B) land2 C) 2only D) 1,2 and3

Which of the following types of soil is most suitable for paddy cultivation?
A) laterite soil B) red soil C) alluvial soil D) black soil

Which of the following rivers does not originate in Indian Territory?
A) Brahmaputra B) Mahanadi - C) Ganga D) Sutlej

The longest National Highway that connects Varanasi and Kanya Kumari is-
A) NH-7 B) NH-10 C) NH-17 D) NH-14

A steel ball is floating in a beaker containing mercury. If some water is poured into the beaker,
the steel ball will- ]
A) move up B) move down

C) continue in its position D) execute vertical oscillation

Which of the following countries allows women to compete in international weightlifting
championship wearing special clothes for Muslim Athletes?
A) Afghanistan B) Pakistan C) Traq . D) Iran
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